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Instruciions to Pupils:

Do not open this booklet until you are told to.do so.
Follow all instructions carefully.

This paper consists of 3 parts, Sectionis A, BandC.

For questiens 1o 20 in Section A, shade the correct ovals on the Optical Answer
Sheet (OAS).

ANSWER ALL THE QUESTIONS.
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- Section C 20
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This paper consists of 21 pages altogether (including cover page).

. 'This paperis not to be reproduced in part or whole without the permission of the Priq_cibél.



Section A {40 marks) .

For questions 1 to 20, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3or 4). Shade the correct ovals (1, 2, 3 or 4) onto the Opficai
Answer Sheef provided. Each question carries 2 marks.

- 1. The height ¢f a ¢classroom door is about _

{1y .100em
(2) 200cm
(3) 1om’

(4) 20m

. 2 Anmad baked 2 900 cookies. He packed them into packets of 100 coo_ki;as.'-_- Cn
How many packets of cookies did he have? '
(1) 9

(2) 29
(3) -290
(4) 2900

~3." The difference between two numbers is 532. The greater number
is 1 083:What is fhe other number?

(1) 551

. ._ {.2,)_.. 555._ .
(3) 611-
(4) 615




Farmer Lee harvested 864 apples. He wanted to pack them equally into

hoxes of 8. After packing some of them into 88 boxes, how many more

boxes would he need to pack the rest of the apples? '

4.
{1}
(2)
(3)
(4)

5.

20
97
108

196

Alice gave away alt her stickers to Sa!iy and Tommy She gave 237

- stickers to Sa}ly Tommy received 68 fewer stickers than Sally.
. ‘How many stickers did Alice give. away altogether’?

1y
(2)

(3)
{4)

169
305 :
406

542

5. Which one of the following shows that ::-' of the figure is shaded?” -

T3y

(4)




7. Adele bought a pizza which is cut into 8 equal slices.
Bob ate 5 slices. Carl ate 1 slice.
‘What fraction of the pizza was not eaten?

() g
(2) %
(3) ;}
@ 3

- 8. " Which of the following fractions fs the smallest?

(1) :
(2) 2
3 3
(4) =

9. Find the area of the figure below.
4m

Im

(1) 16 m?
{2) 32m?
(3) 128 m?
(4) 144 m?




10.

oS+ (=2
@ i
21

=7

What s the nigsing number inthe box above?
1) 42
(2) 49

(ay e

11. There were 3 classes of childre_n going on a trip. Each class had 42
chitdren. A school mini-bus could transport a maximum of 20 children.
How many mini-buses would be needed to fransport alf the children?

(¥) 6
L@yE
" '(3)__ 3

(41 7‘.

1.



Study the advertisement below and answer the questions 12 and 13,

HARI RAYA SALE

" Camera $160 Mouse $23.30° o Guitgr $788.50

. Hoadptiones ‘$5,4 75 . . Printer$235:99
12. Mr Ho bought a pz_iir of headphones, a priritér‘.énfd a'motise for himself. _
How much did he pay for the three ite_ms? _
(1) $202_9;1
(2) $213.04
(3) $313.04

(4) $314.04

13. Miss Lee bought for her children a mouse and a camera. How much
change _shéuld she get if she gave the cashier two $100 notes?
(1) 31670,
(2) $8330
{3) $167.00

(4) $383.30




The bar graph below shows the points won by the different houses during the

Lower Primary Sports. Study the bar graph below and answer Questions 14 and 15.

3 5.8 8 5888

B s Tt — =

Phillips  Richards

T

Glasgow Jansen

Koyan

_14. . Which of the houses won more than 300 points but less than 450 points?
(1) GClasgow an._d Jansen
(2) Phillips and Richards
(3} K()var; and Phillips

(4.}' Jansen and Kovan
15.  Whatls the total number of points won by the top 3 houses?

(1) 550

(2) 1iooo
(3) 1400
- {4) - 2000



16. Whatis the total-capacity of the iwo containers shown below?

1000t : 2£500:mz
(1) 1£500ms
(2)-37000m¢
(3) 3'25'0'6_:}11_' '

(4} 122500 me

17. James ran 1 630 m. Howard ran 530 m less than him.

How far did the two boys run altc_:ge.th_er?

(1) 1km100m
(2) 2km160m
(3) 2km730m
{(4) 3km780m

18. Old MacDona!d had the'same number of chickens and goats on his farm.
Each chlcken has 2 !egs whlle each goat has 4 legs. He counted. that there
were a-total of 2186 legs. How many ch:ckens did Re have-on his farm? L

(1) 18
(2) 38
(3) 72
(4) 144




im’s garden.

The diagram below shows Mr Li
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Mr Lim built a-fence around the garden.
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ng sticks
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ture patterns are formed by u

- Study them carefully.
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How many sticks will be needed to

(1) 65
(2) 56
(3) 66
(4) 67




Section B (40 marks)
For questions 21 to 40, show your: ‘working: clearly 143 thg space below -each question
and wiite your answey in the answer boxes'provided:. Give your answers in the units
stated. Each question carries 2 marks: ’

ST 0 i 1 NP D 1 v S TP

21.  Use all the digits below to form the smallest 4-digit even number,

92, Joanhe bought 36 balloons to decorate-her house for her daughter’s birthday
patty. Her ﬁusband bought 8 times as many balloons as her. How many
palioons did fiiey buy altogether? '

23.  Mrs Suresh had a roll of ribbon measuring 410 cm. She cut 9 equal pieces
from i{-and was: leftwrth 5 cm. How long was -each plece of the. nbbon that .
she had cut?




'24.  Shawn had 112 boxes of pens. In each box, there were 8 pens. He then
repacked them into bundles of 5. How many pens would be left over?

. The table below, shows some mformatton of the' number of cans Mis Chin
. coflected in 6 days For each subsequent day, she always collected the same
- number of cans more than the previous day o :

N Use the informatlon to answer Questtons 25 and 26-

Day | Number of cans collécted ] )
' Monday | | 10
Tuesday - 18
‘Wedhesday { . i ?
| Triursday 34
Friday _ 42
Saturday ?

25, How many.cans did Mrs Chin collect on Wednesday?

L

26. How many cans would she have collected in the 6 days?

|

10



27.

%

?‘3 25 cents

$1.20 $1.80
Amelia_ bought .5 pencils, 2 paifs of scissors #nd a stapler.

She gavg»-$1'0.‘_tq the cashier. How much change did she get?

28.

| |8em

';I'-Zc_m .

A
Vi

14 cm

The figure above is made up of a square and a rectangle.
Find the area of the figure.

CIm

n




29, Study the diagram carefully. I | need 200 m! of water, what is the volume of
water | must add into the container?

ome |

730. A'dog _h‘as-a.;nass of 28.kg. It is four mes.as heavy asé bt}ppy:'_.
Whatis theif totaf mass? : S

kg.

31. A shapeis formed on the geoboard shown below.

Mark alt the angles in the shape that are bigger than a right angle.

12

@



32. Whatis the missing number in the box?

"33.. Whatis the miss_iﬁg‘ fraction. m the box? Leave your answer in the simplest formn. ‘ N |

0 5 1

LR EEER

134, | Jane baked a cake.

She.gave % of the cake to her mother and ate é of it.

What fraction of the_cake was she left with?.

-]

13




The bar graph shows the number of stickers each pupll has.

g S —
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Stugdy the graph above caréfull'y and ahswer quesﬁ‘ons 35 to 37.

I

35.

37.

Who has twice the number of stickers Jack has?

What is the total number of stickers thie children have?

If Bob gave 20 of his stickers to Jack, how many more stickers will Jack

have than Mary?

Q

14

27



Look at the following word .carefully and answer Questions 38 and 39. .

MATHS

38.  What are the létlers with-at least one.pair. of parallel ines?.

-39, What are the letters with atleast one pair ._Bf perpendicular lines?.

. 40.  Daisy had fewer than 30 pencils-to give away to all her friends. When she gave
6 pencils to each of her friends, she. would have 3 pencils left but when she
gave each of them 8 pencils, she would be 3 pencils short. How many friends

-did shegive her pencils away to?

5




Section G (20 marks}

For questions 41 to 45, show your working clearly in the space below each question
and write your answers in the blanks provided. The marks for each question or part
question are given in the brackets. :

41. Kate boughta box of chocolates. She gave z_away‘_%.__-.of the chocolates to her

brother. She ate some of the chocolates and had % of the chocolates left. What
fraction of the chocolates did she eat?

Answer: . {4-m})

16

39.



42,

David, Harry and Fandi had 511 stamps altogether.
David had 38 stamps more than Harry.
Fandi had 75 more'stamps than David.
How many stamps did Harry have?

Answer:

17

(4 m)




43.

Thete were a fotal of 586 parficipants in a sporls carnival.
There were 7 times as many men as women.

There were 35 more women than children.

How 'many children participated in the sporis.camival?

Answer:

(4 m)

18

.



44. The figure below is made up of 5 similar squares.
The length of each of the squares is 3 m.
a ) Whatis the perimeter of the figure?
b} Whatis the area of the figure?

. Ansveer: a) @y

by . __{2m)

19




45. Lily has $12: She wants o buy a box of pencils for $3.80, 5 rulers which cost
30 cents each-and 3 notebooks which cost $3 each.
How much more money does she need?

Answer; (4 m)

~END OF PAPER~
Have you checked your work thoroughly?

20
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EXAM PAPER 2012 |
SCHOOL : ROSYTH SCHOOL |

SUBJECT : PRIMARY 3 - MATHEMATICS
TERM SA2 :
BookletA ,-

D2 -2)2 ' 3)‘1'""*'4)1” 53 o2  ni 853" ”9)3 10yt
11) 4 12)4 1)1 (44 153 1163 |17)3 |18)2  [19)4 2002 |
2132790 22)324 23)45 24)1 25)26  26) 180  27) $4.55 28) 92

29) 100 30) 35.
31)
32)3 33)2/5 34)1/6 35)Bob  36)91 37)19 38)MH 39 TH
a3 | |
41)1/3x3="3/9
2/9 + 3/9 = 5/9
9/9 — 5/9 = 4/9
She ate 4/9 of the box of chocolates.
Page 1



Answer Key


42)38x2=76
76+75 = 151
511-151=360
360/3= 120
Harry have 120 stamps.

- 43)35x8=280 "
586-280=306

- 306/4=34 :
There were 34 children, ..

C 442)3x 14 = 42

The perimeter is 42 cm.
44b}9Xx 5 =45 .,
The area is 45m?

45) 30 x 5 =150
3x3=9
1.50 + 9 = 10.50
10.50 + 3.80 = 14.30
14.30~12.00 = 2.30
She needs $2.30 more.
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